SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| Ao00%8
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

(5 + \/§) + (3— \/5) - (JE - 6) when simplified is :

Page 1 0f 12



(A) positive and irrational (B) negative and irrational

(C) positive and rational (D) negative and rational
WA HH R (5+ VB) + (3— V2) — (V2 —6) F1 R :
(A) = T sTafE B (B) 9T Qe SAUNHA T

(C) = dom i B (D) 9T Qe 9fEE S

Which of the following is a polynomial in x ?

(A) x+- (B) 2+ %
Q) x+ 2x2+1 (D) Bx +1
frefafea ¥ @ AR T sgue T -

(A) x+% B) %+ V&
Q) x+ 2x2+1 (D) Bx +1

The coefficient of x2 in 3x2 —7x —3 is :
(A) =7 B 5 < 3 (D)
3x2—7x—3 H x2 N UNF T :

(A) =7 B) 5 © 3 (D)

When x31 +51 is divided by x +1, then the remainder is :
(A) O B) 1 <©) 52 (D) 50
afs x31 + 51 Fr x+ 1 3 faenforg @ € S Swwa 2

(A) 0 B) 1 (C) 52 (D) 50

Measure of an angle which is complement of itself is :

(A) 45° (B) 30° (C) 90° (D) 180°
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I RIVT T AT S 37T ST T I @ :

(A) 45° (B) 30° (C) 90° (D) 180°

Each angle of an equilateral triangle is :

(A) 50° (B) 90° (C) 80° (D) 60°
Teh GHaTg TS 1 YAk hIo1 ST
(A) 50° (B) 90° C) 80° (D)  60°

In figure, ar(||gm ABCD) is :

D C
2 \\
7 \
Ae——5m —>
(A) 10cm (B) 20cm (C) 1043 cm2 (D) 2043 cm?
aThfa # gHiR =qdst ABCD &1 &% ©
C
4\
7 \
A ——5m —
(A) 10 cm (B) 20cm (C) 1043 cm2 (D) 2043 cm2

Area of an equilateral triangle of side “a” units can be calculated by using the
formula :

(A) 52 (s — a)2 (B) (s — a)«fsz (s —a)

(C) s(s —a)? (D) (s —a)Js(s —a)
e THaTg s fSrEeht =1 ‘a’ THE ©, 1 aEwe e g | uftesfera foren s wear @ -

A) s2(s —a)? (B) (s —a)ys?(s —a)
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10.

11.

12,

13.

(©) ys(s —a)’ D) (s —a)s(s —a)

Section-B

Question numbers 9 to 14 carry two marks each.

Find the value of n, given (81)% =243 .

n 1 T FO : (81 =243 F1

Factorize : 6p2 — 28q2

TUMETE T : 6p2 — 28q2

Evaluate the following using a suitable identity, without multiplying directly : 932

SR el aiHeRat 1 WA d Y, T o o6, 932 61 9 A it

Prove that every line segment has one and only one mid—point.

g FfST fF T WarEe &1 TF i Faa Tk & geg-fag 2ar 2|

In the figure below, ABC is a triangle in which AB=AC. X and Y are points on
AB and AC such that AX=AY. Prove that AABY =AACX.

A

B C
=1 atmpfa 5, AABC #, AB=AC | osieti AB @2m AC W e fog X a1 Y 59 yehR feea
T AX=AY | fag =ifsu fF AABY = AACX

OR
If I, m, n are three lines such that I|jm and n L, then prove thatn 1 m.
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14,

15.

16.

Ffe @7 @ [, m 3R n 39 YR € fF [|m denn 11 € @ fag ST f6 n Lm.

In the figure below, ABCD is a rectangle with length 6 cm and breadth 3 cm. O
is the mid point of AB. Find the co-ordinates of A, B, C and D.
y

A

=1 atmfa §, ABCD & =19 © el @ 6 9., den <rer 3 9.1 §1 fag O W@Ee AB
F o fag 81 fog A, B, C, D & fiwiss A ifed |

Section-C

Question numbers 15 to 24 carry three marks each.

Represent 45 on the number line.

& W W J4.5 o fefud sifsa |

OR
Represent 17 on the number line.
& W W /17 & fefua sifs |
1 ] . .
Express ———— — with rational denominator.
L TN Y
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17.

18.

19.

1 . .
TR ! I §LETt SASToh o ©9 § ook hifwiu |

If the polynomial p(x)=x4—2x3+3x2—ax+8 is divided by (x—2), it leaves a

remainder 10. Find the value of a :

Ife sgue p(x) = x4 — 2x3 + 3x2 — ax + 8 &I (x — 2) ¥ faford L W ATHA 10 9wt e &,

g 1 A J1d i |

OR

Factorize : x6 — y6.

x6 — yb & T Hifsw)

If a2 +b2+c2=30 and a+b+c=10, then find the value of ab + bc + ca.
dfza2+b2+c2=30aama+b+c=10 2, T ab+ bc + ca F 7 I FHIfTT |

In the figure given below, if AB||CD, /FAE = 90° and ZAFE = 40°, then find
ZECD.

F

Y

C D
amepfd #, 4t AB||CD, £FAE = 90° and ZAFE = 40° @ d /ECD ! W4 J1d shi{<Y |

F

Y

OR
In the figure below, I1]|lp and m1|/my. Prove that #1+ £2=180°.
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20.

21.

In the given figure, if PQ _LPS, PQ||SR, £SQR=28° and ZQRT=65°, then find the
values of x and y.

P 7 Q
%,

65°
S R P

[

<t Tl st , Afs PQ L PS, PQJ|SR, £SQR =28° 3R £QRT =65°% dlx &1y & 91 I
SIS |

P Q

In the given figure, AE bisects Z/DAC and /B = ZC, prove that AE || BC.

& ¢ STEHa H L DAC 1 HHfGHISH AE & 7 /B = /C | fag #ifsm & AE || BC
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D
A
E
B C
22. A
%&
B C

In the figure, ABC is an isosceles triangle in which altitudes BE and CF are drawn to
equal sides AC and AB respectively. Show that these altitudes are equal.

AT H, ABC T THfgang e € e s ofststi AC dem AB W fierl sher: BE et CF
T T § | SRIfEy fop wieiere aeR € |

23.  In the figure below, AB=AC, DB=DC. Prove that ZABD=ZACD.
A
B C

smpfa ¥ AB=AC, DB=DC g1 fag %ifse f& ZLABD = ZACD

A

24.
The sides of a triangular park are 8m, 10m and 6ém respectively. A small

circular area of diameter 2m is to be left out and the remaining area is to be used

for growing roses. How much area is used for growing roses ? (use m=23.14)

T AR Ik & ST e 8 m, 10m T 6 m & 2 . 4™ & Teh JAhR & & SIeHh 9
T T T[CTS o GIE ST T E | T[ers SRl S ok fr foRae &Rt wen feman e
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25.

26.

27.

28.

29.

(=23.14 i)

Section-D

Question numbers 25 to 34 carry four marks each.

Express with rational denominator N \/1§ 5
ﬁ+%+£ A1 T i 3 v o FH o e T e gen 4
OR
Rationalise the denominator of N Jl__ Nich
7 Il 5 T e
f" " (2 " \/3)% " (2 - %)% and 7~ (2 " ,\/3)% - (2 - ﬁ)% then evaluate
x2+12.

" = (24B)2 + (2-B)?
14 ehifelq |

1 1
e e (RN LSNP

If p(x) =x3 — 4x2 + x+ 6, then show that p(3) =0 and hence factorize p(x).

e p(x) =x3 — 4x2 4+ x + 6 &, 1 9z & p(3) =0, 37a: p(x) & [orFEUE ot HIfS |

3_ 4 2
Simplify : = x24+ 3;6 j:x

3_ _ 2
A g, LA x +ax

x2+3x—4
Factorise : x2 +i2+2—2x—2 )
X X
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30.

31.

x? +i2+2—2x—2%|3wa§|i\ﬁ&|
x

X

OR
Given a polynomial p(x) = x2—5x +4.
(A) Find the value of the polynomial p(x) at x=2.
(B) Check whether x is a factor of p(x).
(C) Factorise p(x).
Tk 5g9E p(x) = x2 —5x +4 & T
(A) =g9E p(x) 1 AH M B 56 x = 2.
(B) Sif= SIfSTY i # x SEWE p(x) F TH [OHETE T |

(C) p(x) % TOFETE HIfST |

(i) Plot the points M (4, 3), N (4, 0), O (0, 0), P (0, 3).

(i) Name the figure obtained by joining MNOP.

(iii) Find the perimeter of the figure

(i) = ae® M (4, 3), N (4, 0), O (0, 0), P (0, 3) =1 Arifi =hifsiq |
(ii) MNOP =i fHam W ot SRR 1 Te=M H ey |

(iii) 3T 1 IR A HIFT

In the following figure, the sides AB and AC of AABC are produced to points E and D
respectively. If bisectors BO and CO of ZCBE and ZBCD respectively meet at point O,

then prove that Z/BOC=90°— % ZBAC.

11 emrRfa §, AABC =t =Td AB T AC H¥T: fageli E 92n D a% =g TE &1 afg LCBE qen
/BCD ¥ F1: THfgH, fog O W firel &, 41 frg Fform 5 : /BOC = 90° — %LBAC.
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X
B/\Y “(\C
E D
O
Fig. 9

32. Prove that two triangles are congruent if any two angles and the included side of one
triangle is equal to any two angles and the included side of the other triangle.

fag Fifse f 1 Brge watmam 3 €, afc & e & ) v IR STt st o g fiyst &
T I 3R IR ST YT o SR B |

33.  Inthe given figure, PR > PQ and PS bisects ZQPR, prove that PSR > ~/PSQ.

Ap\
Q S R

< T eTpfa §, PR > PQ 3R PS QPR 1 wafgus @1 fag wifs i ZPSR > ZPSQ

/Pi\
Q S R

34. In the figure given below, Zx= Zy and PQ=QR. Prove that PE=RS.

QS8 P
E
R
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dqHpfa ¥, Lx= Ly amPQ=QR 2 fag #ifst PE=RS.

Qw38 P .
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